8 7 | 6 | 4 3 2 1
ITEM |PART NO. DESCRIPTION QTY.| WEIGHT REVISIONS
1 |MDLSS01 Microwave Dish Strut Support Channel 1 | 43.71LBS REV. ZONE lﬁﬁj\fﬂg‘;& MBSYM 01[/)9;13
2 |MDLCS02 MDLCS Half Clamp 6" - 12" 90deg 2 | 5.71 LBS
3 |MT-382-24 5/8" X 24" THREADED ROD 4 | 1.931BS
4 |GWF-05 5/8" GALV FLAT WASHER 8 | 0.03LBS
5 |GWL-05 5/8" GALV LOCK WASHER 8 | 0.00LBS
6 |GN-05 5/8" GALV HEX NUT 8 | 0.04LBS
7  |GUB-53560 5/8" X 3-5/8" X 6" GALV U-BOLT 2 | 1.30LBS
WH SHOWN AS ANGLE LEG SET-UP
§ [
@r—T—— —T1 <@ :
%:I:I
These drawings and specifications are the proprietary property | o e _QQ.

NOTES: Fomule B b b U REER | v | 1o __ MDi-S>-B

1. ALL METRIC DIMENSIONS ARE IN BRACKETS. B N S T Lorge Leg St Sopport Bose

2. FITS TOWER LEGS 8 —16" ROUND, OR 8 —16 X -x 0 woss 27 “01/00/13 | A% ASSEVBLY DRAWING

60° ANGLE, OR 6 =12 90° ANGLE Yoo £ .03 . ®
’ . A= GALY A123
3. FOR ROUND LEGS FLIP ITEM 2 FROM AS SHOWN. REMOVE BURRS AND BREAK_EDGES 005 A = COMMSCOPE
DO NOT SCALE THIS PRINT 67.40 LBS Hickory, NC 28602 U.S.A.
8 7 ' 6 ' 4 ' 3 2 ! 1




